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MENTAL ABILITY AND SCHOLASTIC APTITUDE TEST

For Class X
Mental Ability Test ; For General - 45 Minutes, For Disabled (Only \ﬁsua[ly and Writing hand rmpaifed} - 60 Minutes : Full Marks : 50
Scholastic Aptituds Test (a) Language Comprehension : For General - 45 Minules, For Disabled (Only Visually and Writing hand Impaired) - 63 Minutes  Full Marks : 50
Scholastic Aptiluda Test (b) Other Subjects : For Ganeral - 80 Minutes, For Disabled (Only Visually and Writing hand Impaired) - 120 Minutes - - Full Marks : 100

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions. .
Answers are to be given on a seperate OMR Answer-Sheet.

Please write your State Code, Year, District Code, Centre Code and Roll No. very clearly (only one digit in one
Block) a8 given on your Admission Card. Please see that no Block is left unfilled and even zeros appearing in the
State Code, Year, District Code, Centre Code and Roll No. are correctly transferred Lo the appropriate Block on
the booklet and on the Answer-Sheet. For example, a student of Class X appearing from 'P' Centre, State Code
'20', Year '18', District Code '99', Centre Code '99' with Roll No. '999', will make entrics in the Block as well as
darken the related circle by a Blue or Black Point Pen as under :-
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For all subsequent purposes your State Code, Year, District Code, Centre Code and Roll No. shall remain the same
as given on the Admission Card.

This test is in two Parts. Part-I (Mental Ability Test) consists of 50 Questions and Part-IT (Scholastic Aptitude
Test) comprising (a) Language Comprehension which consists of 50 Questions and (b) Other Suhjects which
consists of 100 Questions. '

All questions in Part-1 and Part-1I carry | mark each,

Since all questions are compulsory, do not try to read through the whole Question paper before beginning to answer it.

“btgiu with the first Question and keep on trying one Question after another till you finish both the parts.

If you do not know the answer to any Question, do not spend much time on it and pass on to the next one. Time
permitting, you can come hack to the Question which you have left in the first instance and try them again.

Blank space has been provided for rough-work at the end of each subject.

Remember you have to darken the circle of Answer-Sheet hy a Blue or Black Ball Point Pen only; do not use a
pencil,

Aunswer (0 each Question is to be indicated by darkening the number of the correct alternative in the Answer-Sheet
from amongst the ones given for the corresponding Question in the question-hooklet.

Now turn to the next page and start answering the questions.
English version of the question paper will be considered as final in case of any dispute arising out of the variation in translation.

: Do no write on Question-Booklet anything except the State Code, Year, District Code, Centre Code and Roll
No. However, Rough Work can be done anywhere in the space provided for it in the Booklet,



Part - 1
MENTAL ABILITY TEST

Time : For General - 45 Minutes
For Disabled (Only Visually and Writing hand Impaired) - 60 Minutes

Full Marks : 50

T -1
AT IRIar 9T
T ;A B fom-45 e
frged (Faw afie aift o e & Rred § owm)-60 e
: 50

Questions 1-5 : Complete the Series

1. Find the 10th term in the series 2, 4, 8,

16, .....
(1) 540 (-2)‘ 1024
(3) 980 (4) 924

2, 17+16x1.6+14x13=7

(1) 60.8 (2) 68.8
(3) 60.6 (4) 59.6
3. 6;24,60; 120, «.uuie
. (1) 140 (2) 210
(4) 180

(3) 240
4. 2;10,26,...._..,242
(1) 80
(3) 82 (4) 83

5. 3,6,24,30,63,72,7,132

(1) 120 (2) 110
(3) 105 (4) 115
6. 40% of 2!3ﬂof a number is 32. What is the
number ?
(1) 160 (2) 240
(3) 80 4) 120

[MAT-1]

9T 15 : e B G R
1. 4w 2,4,8, 16, ... % 104 98 & q@ §d :
(1) 540 (2) 1024
(3) 980 4) 924

2. 17+16x16+14x13="?

(1) 60.8 (2) 68.8 .
(3) 60.6 ) 59.6
3. 6,24, 60, 120, ......
W 10 @ 210
3) 240 4) 180

d, U, 10,98, , 242
(1) 80 (2) 81
3) 82 (4) 83
5. 3,6,24,30,63,72,9? 132
(1) 120 (2) 110
(3) 105 4) 115

6. el wem & 2/3H40% 328 | dem wn ¥ 7

(1) 160 (2) 240

(3) 80 (4) 120



7. If 7 spiders make 7 webs in 7 days, then
itow many days are needed for 1 spider to
make 1 web ? '

11 2) 7

(3) 3 (4) 14
8. FLP,INS, LPV,?

(1) ORY (2) QPS

(3) QRS (4) PGC

9. Find the number in the position of '?'

/B\ /N\
5 12 8

15 17
(1) 40 (2) 45
(3) 41 4) 54

10. If a quarter kg of potato costs 60 paise,
how many paise does 200 gm cost ?

(1) 65 (2) 60

(3) 48 4) 52

Questions 11-12 : Certain rules are followed
in the given series of alphabets where some
alphabets are missing. Find out the missing
alphabet series from the given four
alternatives and mark it on your Answer Sheet.
11. ab _acc _ _da__ bba _

(1) cdabc (2) badda

(3) cdbed (4) dbacd

249 40 .

(P8 Ve W B ] |

7. R 7RGt 7 RS A 9 W E, @ 1 9
TN F fe 1 =d F Bw e B9 @
Esga ot ¥ 7

@ 1 @ 7
(3) 3 | | (4) 14

8. FLP, INS, LPV, ?
(1) ORY ) QPS
(3) QRS 4) PGC

9. 7' F WM ¥ HEN B I T |

, @ i2 8 57 - 49 40

(1) 40

(2) 45
| ) 54
10. SFR U% 9w e ong @ @ima 60 ¥ B,

a S YR 200 mo @ ey ?

MOERAT SN Lo Wi W i S

3) 41

(1) 65 (2) 60

(3) 48 4) 52
uee 11-12 : 56t Fidea Fem W@ AT JER #H
A ¥, P 38 owR gE MY | R W W
TYYRT ST AT R T =R forepedt § & g 0 ¥ 1

WE e @l TEE BT S IOV TE X FEAEN
fafed ¢ 1

11. ab__acc__ _da__bba __ ‘
(1) cdabc (2) badda

(3) cdbcd (4) dbacd

4)



12. ¢ _ bbb _ __ abbbb _ abbb __

(1) aabceb (2) abeeb

(3) abach (4) bacbb
13. Choose the missing -number -
34, 7,37, 14,40,98,43, .1..

(1), 56 @ 6

3) 42 (4) 49

14. A and B arc brothers. C and D are
sisters.. A's son is D's brother. How is B
related to C ?

(1) Brother (2) Father
(3) Uncle (4) Son
15. If x means +, - means X, + means + and

+ means -, then

3-15+19)x8+6=7
(1) 8 (2) 4

- (4) 1

Questions 16-20 : are based on the following
information :

(3) 2

A, B, C, D, E, F, Gand H are sitting on a
merry-go-round facing at the centre. D is second
to the left of H who is third to the left of A. B is
fourth to the right of C who is immediate

neighbour of H. G is not a neighbour of B nor
C. F is not a neighbour of B.

16. Who is third to the left of B ?
(L) & 2) C

(3) F (4) H

[MAT-3]

12. ¢ _ bbb _ __ abbbb _ abbb _
(1) aabcb (2) abcceb
(3) abacb (4) bacbb
13. @ET RERECIE
34,7, 37, 14, 40, 28, 43, .7
(1) 56 2) 63
(3) 42 (4) 49

14. A@TB#@%lC@TD%ﬁ%TA%%ﬁ
D& 9g 21 B, Cq 3 g & ?

(1) W& (2) fen
(3) e (4) 9=
15. O X & 9o9d & +, - & qawd X, + &

e + AT + F T 8 -, @
(3-15+19)x8 +6 =7

1) 8
(3) 2 4 1

e 16-20 : Fret STl o otemRa §

(2) 4

A,B,C,D,E,F, Gt Hw H{-1-188 W &=
Farm it 2 ¥ D, HS ot aff oI YT ¥ A
A% dial 9@t ol ot gew B | B, C & @l el
AT T g ¥ S H & wgRh B 0 G, Bai’ncw
Ugri 7Eét ¥ | F, B @ ugrd wE g 1 e

16. FTBH ¢ A JHU 8 7
1) A () ¢

@) F 4 H



17.

18.

19.

20.

21.

22.

In which of the following pairs is the first
person sitting to the immediate right of

~ the second person ?

~-{1} Gand D (2) Band E

(3) Hand B (4) Gand H
What is F's position with respect to G ?
(1) Third towards right
(2) Third towards left
(3) Second towards right
(4) Second towards left
Who is sitting between A and B?
(1) BothE and H (2) Both F and C
(3) Only E (4) Only F

How many of them are sitting between C
and B ? '

(1) Ooré6 (2) 1ors

(3)2 or 4 4) 3

If in any code language NATIONAL is
written as MZGRLMZO then how is

JAIPUR written in that language.
(1) QZRKFI (2) PZRKFI
(3) QZRIFK (4) QARKFI

If RAT = 42 and CAT = 57° then
LATE = ?
(1) 60 @) 70

(3) 64 4) 74

[LVEA B =]

17, Frfofea g0 & ¥ @ @ w @ g
T I depd e X Jo1 ¥ ?

(1) G&bD (2) BARE

(3) H&B 4) GIXH

18. G%ﬁa‘qﬁmeﬁw%?
(1) =% § dw
2) Id § dwa
(3) =& & gEy
4) ¥ @ gEq
19. 9 ARBF §w Y7 8 7
() SMEARH (2) aNFaRC -
(3) ®a@E (4) Fa F
20. o7 @ R ClRB & g 3 ¥ 77

(1) 0ar6 2) 175

3) 2714 @) 3

21. &R Rl f W A NATIONAL &
MZGRLMZO f&ar smr & & JAIPUR @
Y fomr ST |

(1) QZRKFI (2) PZRKFI
(3) QZRIFK (4) QARKFI
22. PR RAT = 42 &R CAT = 57, @
LATE =? ‘
(1j 60 @ 70
(3) 64 4) 74

(6)



23.

24.

23.

26.

27.

In a Class Vidhya ranks 7th from the top,
Divya is 7 ranks ahead of Medha and 3
raﬁks behind Vidh);a. Sushma who is 4th
from the bottom, is 32 ranks behind
Medha. How many students are there in
the class ? '

(1) 32 (2) 49

(3) 50 (4) 54

I

A person crosses a 600 metre long street™

in 5 minutes. What is his speed in km per
hour ? -

(1) 4.2~ ) 7.2

(3) 8.2 4) 9

A man buys a scooter for Rs. 1400 and
sells it at a loss of 15%. What is the
selling price of the scooter ?

(1) 1190 (2) 1050

(3) 1090 (4) 1200

A train, 130 metres long travels at a
speed of 45 km/hr crosses a bridge in 30
seconds. The length of the bridge is

(1) 270 (2} 235

(3) 245 (4) 220

How much time will it take for an amount
of Rs. 900/- to yield Rs. 81/- as interest
at 4.5% per annum of simple interest ?

(1) 2years (2) 4 years

(3) 3 years (4) 5 years

23.

24.

25.

26.

27.

[MAT-5]

uh Fer f Ben W ¥ 78 wm W E, Rewm 7
bt A B ot R frEm B 3% B B g
NATA4T, P RNH WL Fw A
fpem B ® 7

(1) 52 (2) 49

(3) 50 (4) 54 -

5 fiFe § % &R 600 Hiet Tdl T€% # 9N
YAl & | O (A Uiy Her frmeT a4 & ?

(1) 4.2 2 T2

(3) 82 4) 9

T A 1400 B9 F OF Ted TlE § oY
™ 15% & THOE W Joam & T w
Ted G 7

(1) 1190 (2) 1050
(3) 1090

wF 949, 130 @ &, 45 il e B R |
30 ¥ A g H IR FW 8 | YA &
e 8

« (1) 270

(4) 1200

@) 235
(3) 245 4) 220

5. 900/- & §@ TR W 4.5% iy af &«
o % &Y § g9 &N 6. 81/- it w4 B
foTT Rpee &g T ?

(1) 2ag
(3) 3ay

(2) 494
(4) 5at



28.

29.

30.

31.

A sum of money placed at compound
interest doubles itself in 4 years. In how
many years will it amount to 8 times ?

(1) 4 years (2) 6 years

(3) 5years (4) 8 years

Vikas can cover a distance in 1 hr 24 min
by covering 2/3 of the distance at 4 kmph
and the rest at 5 kmph. The total distance
is ?

(1) 6km (2) 7km

(3) 8km (4) 5 km

2 trains starting at the same time from 2
stations 200 km apart and going in
opposite direction cross each other at a
distance of 110 km from one of the
statiofis. What is the ratio of their speeds ?

(1) 11:15 (2) 11:12

(3) 117 (4) 11:9

In the following figure triangle
represents 'girls', square players and
circle-coach. Which part of the diagram
represents the girls who arc player but

not coach ?

Coach

—> Players

tl) P

(2) Q

(3) R (4) S

28

29,

30.

31.

[iVLA L ~U]

aﬂq@wwwwiﬂmctﬂﬁﬁ
AP & Srr ¥ o R "W ¥ o 8
B ? |

(1) 49 (2) 699

3) 5a9 4) 899

fprd @ T B T wr & 1 He 24 fiee
gl & 2/3 9 4 Bl ofy @R o) W s
ol of 62 & T & T ¥ w o B

(1) éﬁsﬁt. ) 7 &

(3) 8 1. (4) 5 R

2 g1 200 R, ot 2 Rl @ g & @5y |
g B X Rgd fRem # s wer Ryl & A
TR0 B W g @ o
FXA E (ST R A SR o B 2

(1) 11:15 @) 1i:12

(3) 117 ) 11:9
Fefofaa ol & BreRor  @stREr, e
‘Taemgl’ IR dea ‘S 1 -gfefi o @ |
ARG F BN 91 BE I @sidl @ aRfe
FXAT & S RaenEt € Al e A8 § 2

Coach

— Players

(1) P

@) Q

(3) R 4 S

(8)



32.

33.

34.

35.

Which number will replace the question

2018 26| 8 7| 12

1) 15 2) 25

(3) 35 ‘ 4) :’22

~The average of 50 numbers is 38. If two

numbers namely 45 and 55 are discarded,

the average of remaining numbers will be ?
(1) 36.5 (2) 38

(3) 37.5 (4) 38.5

Which symbol will be on the face

opposite to the face with symbol * ?

@ @ * $

_ ’?‘ * + S + 8 +
(1) @ (2) #

(3) 8 (8)

In a boat 25 persons were sitting. Their
average weight increased one kilogram
when one man goes and a new man comes
in. The weight of the new man is 70 kgs.
Find the weight of the man who is going.

(1) 45 (2) 52.

(3) 48 (4) 47

32.

33.

34.

35.

[MAT-7]
HI W HEA 0 e H1 I o ?

20 | 8 26
(1) 15 Q) 25
3) 35 @) 22

50 St T e 38 © | & e A 45 AR 55
%Y FeT e S, & S we S S A ¢

(1) 36.5 (2) 38

(3) 37.5 4) 38.5

B T T 98t B [udd e | K Tl T B
qw B ?

@ @ ® $
_ % & - $ + 8 "
1) @ @) #

3 8 @) +

TF 9@ ¥ 25 ARREl §3 & 1 I oea o

¥ % M ghe g8, 99 U SEHl 9w SR

? R @ AT e g oo @ 1 W amEd
& go 70 R ¥ 1 o onedr o @ ¥
JT% AT F G@T FC |

(1) 45
.(3) 48

@ 52
4) 47



36. Choose the alternative from the answer
set (i.e. 1,2,3,4) which closely resembles
. the mirror image of the given figure 'X'.

X

37. Complete the diagram from the given
options.

L]

L

] ]
- Hm @ @G @

38. If BOX is coded as CDPQYZ what will
be the last two letters of word in the same
code for HERO ?

(1) M. N (2)-P,Q
39. If air is called water, water is called
green, green is called dust, dust is called
yellow and yellow is called cloud, which
of the following does fish live in ?

(1) Air (2) Water

(3) Green (4) Dust

36.

I lefefale

.

38.

39.

Lo m o v )

I foeed 1 e FX I 8 § (sl 1,2,3,4)
ST & T Haew X @ P el @ e ¥

R T Rl & & P A g A

[ ]

Il - .LI_
| - \Nh

@ 3 @

I BOX, CDIQYZ & w # PR EA |
HERO & U6 #e ¥ 9= H 9§ & oBR
B :

(1) M,N @) P,Q
(3) N,M @) Q.P
afs & AU Fe MG, G B EW, B oA

0o, 9 B g o 9 A sEw %e o, ar
Pt ® & wwell fbg & e 7

(1) Air (2) Water

(3) Green 4) Du.St

(10)



40. The total of present age of P, Q and R is

41.

42.

43.

90 years. Ten years back their age ratio
was 1:2:3. What is the present age of Q ?

(1) 36 2) 30

(3) 18 4) 20

A person moves North, then turns to his
right and then again right and then finally
goes to his left. In which direction is he
moving now ?

(1) East (2) West

(3) North (4) South

Murari walked 40 m towards North, took
a left turn and walked 20 m. He again
took a left turn and walked for 40 m.
How far and in which direction is he from
the starting point ?

(1) 20 m East (2) 20 m West

(3) 60 m North (4) 30 m South
Introducing a woman, Shashank said,
"She is the mother of the only daughter of
my son". How that woman is.related to
Shashank ?

(1) Sister (2) Daughter

(3) Sister inlaw (4) Daughter in law

40.

41.

42

43.

[MAT-9]

P, QAT R # g Mg F dm 90 & B
WY @ I AG W U 1:2:391 1 Q
Hl FOAH oY R § 7

(1) 36 (2) 30
(3) 18 (4) 20

s Afd oot R § omwr B, B 9 @R
AR o & ol fhR afestt o Sar & i oid
¥ g o) AT & | 98 o 5w R ¥ 97 @
g7

0 @

(3) I

(2) U=
(4) =R

T IR H AR 40 et w9 O, 0F 99
Hie ferar ol 20 Hex T T IER Y @
w6 I e REr A 40 Fer =@ o
o T URtE &g & e g o few Ram &
27

1) 20#%.

(3) 60 . =X

(2) 207t gfd=m
(4) 30 . gy

T HEW N IREd & g, ANE o F@, ‘g8
BT AT W OTHIE AL W A R gE Ak
MEF | Y Haftm & 7

(1) & () wEH

(3) & 4) E



e

Q 44-45 : In these questions pair of words on

44,

45,

the left of ::
with each other. On the same analogy you
are required to answer the appropriate
pair of words out of the given options to
be placed on the right of :: .

Malaria : Mosquito :: 7 : ?
(1) Poison : Death
(2) Cholera : Water
(3) Rat: Plague

{4_} uue. > © LJISCASE
Computer : fqprxvht :: Language : ?
(2) ocqicyig

(4) ocqixcig

(1) oxpixdig
(3) ocqgixcjg

Questions 46-50 : Study the bar chart and
answer the question based on it.

46.

47.

have certain relationship

LiYArR 1™1V]

Q 4445 : 57 Ut 7 *Fe :: # IRl AN A T=F W

44.

45,

STEl TR O HeT B e s ¥ o 3
ITEY RT T ot § § wd Reea o B oo
A S W o B, B YU F G
S = W FRER fafed Y
TR : W 11 7 9

(1) & : A

(2) & : g

(3) <@ W

(4) TEibeEr @ T
Computer : fgprxvht :: Languagé 17
(2) ocqicyig
(4) ocqixcig

(1) oxpixdig
(3) ocqgixcjg

U 46-50 : T WE F AT HT A @ W
e ueT & I & |

Production (in 10,000 tonnes)

1995 1996

1997

What was the percentage decline in the
production of fertilizers from. 1997 to
1998 ?

(1) 25%
(3) 50%

(2) 30%
(4) 35%

The average production of 1996 and 1997
was exactly equal to the average production
of which of the following pairs of years ?

(1) 1998 & 2000 (2) 1999 & 2000
(3) 1995 & 2001 (4) 2000 & 2001

1998
Years

1999 2000 2¢Ol

2002

46. 1997 & 1998 TF TEEH F IqET H fHad

ARISKT 3 FRmEe o o ?
(1) 25% (2) 30%

3) 50% 4) 35%

47. 1996 AR 1997 % r\e sames o sisr & @

FoE SiTe % o S $ aTET o ?
(1) 1998 & 2000 (2) 1999 & 2000

(3) 1995 & 2001 (4) 2000 & 2001

(12)



48.

50.

What was the percentage increase in .

production of fertilizers in 2002

compared to that in 1995 ?
(1) 320% (2) 300%

(3) 200% (4) 220%

9. In which year was the percentage

increase in production as compared to the
previous year the maximum ?

(1) 2001 (2). 1996

(3) 1997 (4) 1999
In how many of the given yeérs was the
production of fertilizers more than the

average production of the given years ?
(1) 1 (2) 2

(3) 3 () 4

48.

49.

50.

[MAT-11]
1995 &1 gam # 2002 § AT & I H
yfeer gie @ ot ?

1) 320% (2) 300%

(3) 200% @) 220%

froct a8 = go F BF a¥ % oA #
Aftenem ofere ghE gom & ?

(1) 2001 (2) 1996

(3) 1997 @) 1999

Ru Tq a9l # e awi H§ I9H @ IR, fRU
TC gt @ AT I § A o 7
(1)1 @) 2

@3 3 4) 4
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8 L o

frésr

b STl 50 9T RE T & G 50 5 S0 T & ¥ 1 @ B e @ S o A (R T o) a1 g
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o R Pl gl B HEr % A A 9% o

9 M & g U NP deuren § g9

=t 50 : 50 | (oF) % 15-18
il
S 50 50 | (u=) &% 19-22

I A B 9 PR & RAY gEge B Ay g
% 9T 1 () ofF B ¥ |

qft net w Sux W o ¥

A W H S 04 W ¥ omgff BT 7T ofl. wH. . SER-us@ (OMR-Answer Sheel) IT & 3T & |

T N B WR A It Ry M ¥, R dew o6 ow wd@

e-gT & ue & R e e oad § @ @9 Rew TR Sa-wn  al Reed 9@ e 8t O 9 e @
I 5 T B

PART-11
SCHOLASTIC APTITUDE TEST
IT (a) LANGUAGE COMPREHENSION

Time : For General - 45 Minutes, For Disabled (Only Visually and Writing Hand Impaired) - 60 Minutes Full Marks : 50

INSTRUCTIONS

All the questions of this part are related to Language Comprehension.

This part contains 50 questions in Hindi Language and 50 questions in English Language. The candidate has to
choose-and attempt this test only in one Language i.e. either in Hindi or in English,

Marks allotted to each

Question Page No.

Language Sub | Full Marks | No. of Questions

Hindi 50 50 1(one) - 15-18
or
English 50 50 1 (one) 1922

Before answering the questions, read these instructions very carefully.

Each question carries 1 (one) mark.

Answer to all the question is essential.

This questions are to be answered on OMR Answer-Sheet supplied in the Examination Hall.
Every question has four alternatives of which only one is correct.

Answer to each question is to be indicated by darkening the number of the correct alternative ia the Answer Sheet
from amongst the ones given for the corresponding question in the Test (Question) Booklet.

HUEN G e SAX STOA1 F STOH FY | Please Turn Over the Page and Start Your Work.

(14) -



g 1-6 Fi9 Ru 1o

Hindi ( &<)

% weq o offty Ty
o (F) R (@) F @ ™R | oSk B 4"
% AR 99 ZFaRya & ¥ | & ormafEm &9
#1,2,3,4F R ™ E | 3 WM T BH
0 TR FHIE B h [ AgRe weE o
H AT T Re T et # w0
e & St | R, ST TR T FET 2 |

_L

%) e 0% e TR |

1) FEMRA & 94 A T O I a4 B
e @& oM 9

(2) T ¥ TET B AR D FROT AYT

BISHT TH ST TSTEMT S0 97 |

(3) 99 FO1 7 W= B qEr #H Geel B AEw
o e o

4) %91 & @ e W o e @ R
& o o |

(7) FreT & TN H TR X IED e TEw
T B A S 7@ T T
M1342 @23 41
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English ( 30 )

Q 1-5 : Read the following passage and

answer the questions that follows :

Who does not know Gandhi Ji ? He is the
father of our nation. He related an
incident of his school days. It was his
first year at the High School. Mr. Giles,
the inspector had come on a visit of
inspection. He had set up five words to
write as a spelling exercise. One of the
words was 'Kettle'. .Gandhi Ji had
misspelt it. The teacher tried to prompt
Gandhi Ji, but he refused to do so. He did
not copy the spelling from his
companion's slate. The result was that all
the boys, except Gandhi Ji, were found to
have spelt each word correctly. It was
only he who had failed in the spelling
test. The teacher communicated the result
to his guardian, but it had no effect on
him. "Morning shows the day", and this
incident indicates that Gandhi Ji had been
- truthful since his very childhood.

Mr. Giles had set up five words as :
(1) acomposition exercise
(2) avocabulary exercise
(3) - a grammar exercise
(4) aspelling exercise

The teacher tried to....ceuu. Gandhi Ji ;
(1) advise (2) teach
(3) prompt (4) dictate

Gandhi Ji did not learn the art of :
(1) copying
(2) taking hélp
. (3) other unfair rﬁeans _
(4) asking his companions
The teacher communicated the result to
his :
(1) headmaster (2) sister

(3) brother (4) guardian

[ENG-1]

Gandhi Ji had been........... since his
very childhood.
(1) careful
(3) obedient

(2) intelligent
(4) truthful

Q 6-10 : Read the following passage and

answer the questions that follow.
The word, 'News' stands for the north,
the south, the east and the west. So, the
paper which gives information of the four
directions is called a newspaper. It is an
important tool of democracy. It is called
the Fourth Estate. Today it has become a
part and parcel of our life.
Our morning breaks with a cup of tea and
a newspaper. It makes the beginning of
our daily routine. Its headlines and
editorials project the picture of the
country along with the world. Some
newspapers thrill us, while some
disappoint us. A newspaper gives us
news as well as views. It exposes the
evils prevalent in society.
A newspaper is a medium of expressing
public opinions. It should be neutral and
express impartial views. When it projects
the principles and philosophy of a
particular political party, it loses it's
confidence. Then it becomes ‘prejudiced
and looks at a thing with a jaundiced eye.
It fails in its mission of fighting for tte
true cause of the masses.
A newspaper is an important tool of :

(1) monarchy (2) business

(3) sports (4) democracy
Our morning breaks with :
(1) prayer

(2) washing ourselves
(3) morning walk
(4) acup of tea and a newspaper
A newspaper should be :
(1) cheap (2) neutral
(3) partial (4) revolutionary



10.

Q 11-15 :

11.

12,

When a newspaper becomes partial, it
loses its :

(1) charm (2) confidence
(4) understanding

"Look at a thing with a jaundiced eye"
means :

(1) be a patient
(3) be tactless

(3) circulation

(2) be careless
(4) be envious

Read the following passage and
answer'the questions that follow :

The best way of understanding our
civilization is to take an example of an
ordinary sort of man. I like to cite my
own example. My home is in London. T
get up in the morning when an alarm
rings on the table of by bed, it goes by
clock-work and is quite a complicated
machine. I get into a hot bath, the water
for which has been heated by gas,
supplied by the gas board for the area in
which I live. It is a part of the national
system. The water is supplied by the city
water board. After bathing I shave; the
water comes from a kettle which has been
heated by electricity, so far I am
concerned, what happens is very simple.
I put & plug in the wall and press the
switch and electricity does the rest. I use
a safety razor, the blade of which, made
of very finely tempered steel, has been
cut, together with millions of other
blades, by a machine.

What place does the writer belong to ?

(1) Delhi (2) Washington
. (3) London (4) Hongkong

What makes him wake up in the morning ?
(1) the sound of a washing machine
(2) an alarm on the table
(3) noise of a passing train
(4) chirping of birds

[ St RS R ] |

13. What does the writer do after getting up ?

14.

15.

(1) shaving

(2) washing

(3) taking hot bath

(4) walking for some time
Which body supplies the water ?

(1) municipality |

(2) water tank

(3) the city water board

(4) by pipe .
What is the blade he uses made of ?

(1) copper

(2) silver

(3) finely tempered steel

(4) aluminium

Q 16-17 : The following five sentences come

16.

from a paragraph. The first and the last
sentences are given. Choose the order in
which the three sentences P, Q and R
should appear to complete the paragraph.

S; Human life is a struggle, it is full of
ups and downs, successes and failures.

S5 As a matter of fact, failures are pillars
of success.

It would lead him to success with flying
colours.

He should take lessons from it and labour
hard

But, a person should not be upset by
failures.

Choose from the options given below :

(2) QPR
(4) RPQ

(1) PQR
.(3) RQP

(20)



17. S, Itis not an easy thing to be a good citizen.

Ss So, it requires first to give up one's
selfishness.

P. [Itis because forgetting one's duty, one is
absorbed in selfishness

Q. One does not realise: that rights are
implied in duties.

R. Generally one aspires for rights only.
Choose from the options given below :

(1) POR  (2) RQP

(3) QRP (4) RPQ

Q 18 to 27 : Choose the word which best fills
the blank in the following sentences from
the four options given :

18. People like.......
(1) noise (2) abuses
(3) music (4) quarrels

19. Young plants are reared in.......
(2) apark
(3) alaboratory (4) a nursery

(1) a garden

20. Books are stored in.......
' (1) aschool
(3) alibrary

(2) an office
(4) an exhibition
21. Cars are repaired in.......

(1) afactory (2) agarage
(3) aplatform  (4) aworkshop
22. Letters and parcels are sorted in.......
(2) abank
(3) apost office (4) ahall

23. Patients are treated by.......

(1) acourt

(2) aphysician
(4) adentist

(1) amagician

(3) asurgeon

L rEORTY 97
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24. Pictures are drawn by.......
(1) apoet
(3) an artist

(2) a film maker
(4) a painter
25. Manuscripts are written by.......
W (1) atypewriter (2) hand
(3) a photographer(4) an astrologer
26. A carpenter makes.......

(1) patterns (2) furniture

(3) sweets (4) clothes
27. A deafcannot.......
(1) speak (2 hear
(3) run (4) work
Q 28-30 : Select the meaning of the given
phrases/idioms :

28. At Random :
(1) aimlessly
(3) rightly
29. Invogue : ‘
(1) out of date
(3) indemand
30. Kith and Kin :
(1) friend (2) companion
(3) blocd relations (4) customer

Q 31-35 : In the following passage there are
some blanks with numbers. Fill in the
blanks by sclecting the most appropriate
word to each blank from given optlons of
each number.

(2) carefully
(4) intentionally
(2) in fashion
(4) disorder

The Qult India movement was launched on -

.31... in ...32... . It was ...33... who
iaunched 1t. Many leaders of the country
were sent to ...34... It was the ...35... war
of independence.

31. (1) 9th July
(2) 8th August
(3) 15th August
(4) 20th January



32, (1) 1935
(3) 1945
D (1) Maulana Azad
(2) Rajendra Prasad
(3) Gandhi Ji
(4) Subhash Chandra
34. (1) jail (2) hospital

(2) 1942
(4) 1946

(3) farmhouse (4) zoo
35. (1) first (2) second
(3) third (4) last

Q 36-40 : Select the word which means the
opposite of the given words :

36. Bright

(1) black (2) gloomy

(3) hazy (4) dark
37. Hard:

(1) difficult (2) easy

(3) soft {4) moist
38. Rich :

(1) beggar (2) common man

(3) poor (4) miser
39. Ancient :

(1) old (2) medieval

(3) stale (4) modern
40. Long:

(1) small (2) short

(3) pigmy (4) stout

Q 41-45 : Select the word which means the
same as the given words :

41. Sight :
(1) vision (2) scenery
(3) place (4) area

LA NI ]

42. Task:
(1) game (2) duty
(3) tax (4) price
43. Solvent :
(1) indebt (2) duration
(3) debt-free (4) extravagant
44. Witchcraft : _
(1) archery (2) magic
. (3) painting (4) story - telling
45. Wood : | _
(1) floor (2) timber

(3) furniture (4) grass

Q 46-50 : Fill in the blanks with the right
verb-forms in the following sentences :

L the book fair last night.
(1) had visited  (2) visited
(3) havevisited (4) will visit
47 Heéoowen a piece of bread now.
(1) waseating  (2) is eating
(3) will be eating (4) will eat
48. The sl in the east.
(2) had risen
" (4) will rise
49. I........ ..for home tomorrow.

(1) hasrisen
(3) rises

(1) leave (2) have left
(3) had left (4) will leave
80 Heioonw the police just now,

(1) informed (2) is informing
(3) had informed (4) has informed

(22)
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Physics ( TTE&T)

A copper wire is stretched to decrease the
radius by 0.1%. Calculate the percentage
change in its resistance :

(1) 0.3%, decrease (2) 0.4%, decrease
(3) 0.4%, incrcase (4) 0.2%, increase

There are two metal spheres of same
material at
te'mperamre, but one is hollow and eother
is solid. Which sphere will expand more
if (2) they are heated to same temperature

(b) same heat is given to both ?

QnTan

volume and same 3amc

(lj a - Hollow sphere, b - solid sphere

(2) a - Same expansion for both, b -
Hollow sphere

(3) a - Hollow sphere, b - Same
expansion for both !

(4) a-Solid sphere, b - Hollow sphere

Between two plane parallel mirrors an
object P is placed as shown in fig.
Distances of first three images from
mirror M, will be (in cm) :

é . 5S5cm
3 pe »
2&—15 cm———»
M, M,

(1) 510 15
(3) 5, 15,25

£2) 5,15, 30
4) 5,25, 30

How many turns of a nichrome wire lmm
in diameter should be wound around a
porcelain cylinder with radius 2.5 cm to
obtain a heater with resistance of 20 Q ?

(Given p (Nichrome) = 1.0 x 10 Q m)
(1) 650 () 1200
(3) 100 (4) 5

L.

4.

L (1) 0.3%, %

[PHY-1]

%ﬁ%mﬁ@iﬂmmﬁwﬁo'l%
§ o9 B oo ¥ R gk § afea
SAE BT
2) 0.4%,

(3) 0.4%, 3% (4 0.2%, 3
T 8 O § FiT Q TE eme @ e &
MR AT § | UF T GrEW 9 gE o
¥ B T W e ofiE 2 AR (a) aNT
N UF & T qF T BeA ST (b) A &
T T S & qE 7

(1) a- @ A, b - B A
2) a- 3 F g9 &M@, b - I AT
(3) a- 234 M, b- & & qHF S
(4) a -3 M, b - GrREE T

fa T A doh A PR R ad
gt & " Tl ¥ oadw M, § s d9
SRt 2 o ({48 &) &

5 cm
pd——b
4 15cem #
M, M,
(1) 5,10, 15 (2) 5,15, 30
(3) 5,15, 25 (4) 5,25, 30

20 3 HRAYT BT ©F €T TN 3G AHEE H
T AR (e = 1 ) # o awes @
feist (Boor = 2.5 4.41.) W 9Ews &0 #
T /et ?

(R 7& p (Nichrome) = 1.0 x 10° Q m)
(1) 650 (2) 1200

- (3) 100 (4 5



- Aball is dropped vertically from a height

d above the ground. It hits the ground and
bounces up vertically to height d/2.
Neglecting air resistance, its velocity v
varies with height h above the ground as :

V“

:3?\

vlh

LEHY-Z]

5. U qW 9§ d S § & Iw ww Rer ¥ A9
FrRefl ot & 1 e geft o & =R B usE
d/2 $9E 7% Seeeh ¥ 1 Ay uRRw @ o
T gQ A A Ay T oRed S ge o
q S & wy dar B ?

uJL ull

oL »h 0 —
(DA (2)B

While travelling from air to water path of
a sound beam is likely to be (see fig.
below) :

o\\ &K
/‘/«3) :'/,/(D)

6!

The refractive indices of glass and water

are i

and -g— respectively. For a ray of
light moving from glass to water, critical

angle will be :

4 . 3

IR L

(1) sin 5 (2) sin 5
: 3 2
TS il 4 { &

(3) sin > (4) sin :

Which of the following is correct ?
(1) 1tesla = 4n x 1077 gauss
(2) 1tesla = 8.89 x 10° gauss
(3) 1tesla = 10* gauss
(4) 1tesla = 1.98 gauss

T JE B R Him ¥ U B oo v R G
shifeies ioT F41 B ?

: 4 3

o . A -l 2

(1) sin - (2) sin =
(3) sin‘l—g (4) sin™ '-—~2

8. P & 49 & @ 2 2

(1) 13gar = 4z x 107419
(2) 139 = 8.89 x 1079
(@) 13w = 104
(4) 12@am = 1.98 Mg

(26)
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11.

12,

13.

.beaker.

Which of the following is renewable
source of energy ?

(1) Wood
(3) Natural gas

(2) Petroleum
(4) Uranium

Two circular coils having identical turns
and radius in the ratio 1:3:are joined in
series. Find the ratio of 1 magnetic fields at
the centres of coils :

(1) 1:9 (2) J3:1 ‘
_@3) 3:1 (4) 9:1

Two objects moving along the same
straight line are leaving point 4 with
acceleration a, 2a and initial velocity 2u,

u at time ¢ = 0. The distance moved by

objects with respects to point A when one
abject, initially behind other, overtakes
the other is :

iy 2 3 &
a a

2 2

3y S ) 8
a a

A car approaches a hill with constant
speed. When it is at a distance of 0.96

km., it blows horn whose echo is heard .
by the driver 6 second later. If the speed
of sound in air is 300 m/s, calculate the -

speed of the car :

(1) 100 m/s (2) 20 m/s

(3) 50m/s (4) 70 m/s
A block of ice is floating 'in a liquid of
specific gravity 1.2 contained in a
What will happen to the liquid
level when ice completely melts ?

(1) Liquid level will increase

(2) Liquid level with decrease

(3) Liquid level with remain unchanged

(4) Depends on the size of ice block

10.

11.

12.

13.

[PHY-3]
Frefofe & @M e St & ?

(1) w=h ) Wik

O ENRERI @) T
Wﬁﬁﬁmﬁwﬁmﬁwﬁ
1:3% ogue & € Ol opm & o W ¥ g
%ﬁwmﬁmﬁam\mﬁmﬁ

CORIG
2) J3:1
@) 9:1

(1) 1:9
(3) 3:1
F TG TH WH T £ = 0 W @ a, 20 T
MR T 20, 4 @ T Y HAN | A D
wmy FEgelt &N a9 W T gl Fredt w@ @

T H o @ oAy, Wl oag ¥ oem
Foreparelt 2 :

2 2
(1) 6u’ 2) 2u”
a a
' 4u? 82
Y )

| @m@ﬁa@_ﬁaﬁ'mwﬁﬁwﬁ

W@ 7 0.96 FBA # T WA B qMeid
e Femar B 1 R ofveaty T 6 9. @

ST g ¥ o AR wtr W A oEw & 300

A &R FT B AR PR

() 100#.4A. () 20%.A.
(3) 50+ 4. (4) 70 #./3.
T ¥ @ 2 (Rfre v = 1.2) ¥ & o9
TR WE | I8 D B D WD
7

ST &9 W Hqe #F ww afted e
(1) = % 7o & S A
(2) & H FAE P HAE TN
(3) 24 @ e A S eRafie wh
(4) T % B B T B Y
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15.

16.
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19,

CATLHUISLE Y | Q4™ )

The molecular weight of O, and N are

32 and 28 respectively. At 15°C thc
temperatureé of 1 gof O, will be the same
as that 1 g of N m the same bottle at the
temperature -

(1) 56°C | (2) -15°C
(3) 13°C (4) -21°C

Which of the following processes causes
the emission of an X-ray ?

(1) Alpha emission
(2) Positron emission
(3) K-electron capture

(4) Gamma emission

. The IUPAC name of Ph-CH=CH-COOH is -

(1) 3-phenylpropenoic .jicid

(2) Cinnamic acid ‘

(3) 1-carboxy-2-phenylethene

(4) l-phenylpropenoic acid .
Which of the following is the most
reactive species ?

(1) Ci, (2) ICI

(3) Br, 4) L,
The solubility of AgClin 0.1 M NaCl will be -

(1) Increase

(2) Decrease

(3) Remain unchanged

(4) AgCl will dissolve completely

Ethylene dichloride and ethyllidene
dichloride are -

(1) Geometrical isomers
(2) Chain isomers
(3) Position isomers

(4) 'Not isomers

14.

15,

!
16.

17.

18.

19.

- |CHE-1]

O, 8l N, T ST X st 32 ol 28 &
15°C AT R 131 O, % 99 T St &

13/ N, & S99 & T 8 - -
(1), 56°C 2) -15°C
(3) 13°C @) -21°C

frfafaa & @ ﬁ'rr ) m TR S S
R B ?
(1) ST St
) IR S
(3) F-FwEH =R
(4) T IR .
Ph-CH=CH-COOH & IUPAC 71 ¥ -
(1) 3-3Faiafe s
(2) RemmEs e
(3) 1-FrEe-2-Brerel
4) 1-%fanife oie
Frer § & B9 o1 wad s sfafesier ronfer

/

g7

¢y @l (2) ICI
3) Br, @ 1
0.1 M NaCl § AgCl &t gemefiear &nfr -
1) HgRx
2) A FH
(3) HURaERiT @ _
4) AgClTh @ & ffym &

PRI SEEIEE o GRiRRY  sreiREs

Q@

(1) “afRiE smgarRt
2) O STEHm
3) Refy emdt
(4) sEErR e R

(28)



20.

21.

22.

23.

Ozoneis

(1) An allotrope of oXygen |

(2) Anisomer of oxygen -

(3) Anisotone of oxygen.

(4) Isostructural with HZO2
Match the Column A with Column B

Column A Column B
1.| Energy of mass (a)'| Four
less particles
2.| vy, | (b) | Hund rule |-
3.| Number of lobes ()| E =pc
in a 3d orbital '
other than 3d§
4.| Mutual repulsion | (d) | a’? + b?
of atomic electron
() 1-d 2-3¢ 3-b 4-a
2) 15a 2=d 3—2b 4-c¢
B3) 15c 2-5b 3-5a 4-d
(4) 1->¢c 2—-d 3—5a 4-b

‘The first organjc compound which was

synthesized in the laboratory was -
(1) .Methane (2) Urea
(3) Aceticacid (4) Cane sugar

Assértion-Reason Questions :

(a) If the assertion as well as reason are

correct, and the reason is the correct
explanation of the assertion.

(b) If the assertion as well as the reason
are correct, but the reason is not the
correct explanation of the assertion.

(c) If the assertion is correct but reason
is not

20.

2L,

22.

23.

[CHE-2]
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(1) oleESH # & THi
(2) ST B TH EEMNR

. (3) SHRISH B AR
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FEH A F Y | B A H
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1) 1-d 2-5c¢ 395b 4512
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24.

26.

(d) If the reason
assertion is not

Assertion : Graphite is chemically more
reactive than diamond

Reason : Diamond is very hard but
graphite is soft .
Choosé the correct answer :

(1) () (2) (b)

3) (@ (4) (a)

Cracking of propane is expected to yield -

(1) Propane and hydrogen
(2) Ethene and methane
(3) Ethane and methane
(4) Propene,

hydrogen

ethene, methane and

. Which of the following statements is

correct in context to Tyndall effect ?

(1) Scattering and polarizing of light
by small suspended particles is
called Tyndall effect.

(2) Tyndall effect of colloidal
particles is due to dispersion of
light

(3) Tyndall effect is due to refraction
of light '

(4) Zig-Zag motion of suspended

particles -

Electrolysis of dilute aqueous NaCl
solution was carried out by passing 10
miliampere (mA) current. The time (in
secomfs) required to liberate 0.01 mol of
gas at the cathode is (Given that Faraday
constant (F) = 96500 C mol™!) )

(1) 9.65x10*s (2) 19.30x 10*s

(3) 28.95x10%s (4) 38.60x 10*s

is correct but

24.

25.

26.

[CHE-3]

() 3R FRoT wE R Qe aar @ R
YT : AEEE R W gEm F TEEEE w9
9 afte ofebrmsiia &
% : SYHS JET AW & AR IHRE TH §
Sfem ST g

1) (© (2) (b)

(3) (@) “) (@
WO 1 BRT. § IO W B s ® -

(1) 907 &R erEgem

2) W SR HEw

(3) 09 AR WA=

(4) S, TN, H99 O] emgm
&= M@ & T A BT F @ B oW e
w7

(1) B8R fefeq &1 a0 g @ eew

|

2 mﬁﬂﬁﬁmmﬂ%
%arar%asr{ur%

(3) ﬁwwm%mﬁq%w%\
(4) Prafe w9 @ 7y erder

TR T NaCl @HEF & somifEd 10
miliampere (mA) FdAE TG & AT T4
a1 B0 F 0.01 mol W B FH A B
SATH Gy (epgd #) ¥ R (78 T gu

B0 R (F) = 96500 C mol™)

(1) 9.65x10*s (2) 19.30x 10*s
(3) 28.95x10%s (4) 38.60x10%s
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Biology ( r-f=t ) [BIO-1]

. The kidneys in human beings are a partof ~ 27. T & g% T = %1 w77 & = EEEEE
the system for :

(1)- Nutrition (2) Respiration S W

(3) Excretion (4) Transportation - (3) T (4) uReeT
. The x'y]erﬁ in plants are responsible for : 28. URY § EZeH SO ®

(1) Transport of water (1) ¥ BT TB

(2) Transport of food- (2) 9 & T8

(3) Transport of amino acid (3) A oT<T F e

(4) Transport of oxygen (4) SN = e

. The autotrophic mode - of nutrition 29, =iy daor 3 R amesas &

requires :
(1) F1 STEeiRIES ol o

(1) Carbon dioxide and water

(2) Chlorophyll @) T
(3) Sunlight (3) ¥ &y
(4) All of the above (4) 9l T+
. The 'breakdown of pyruvate to give 30. TUsaIT 3 ﬁ@'&'ﬁ'{ q TE FEH SEo4ES, e
carbon dioxide, water and energy takes T e AN e R A R

placein :

' 2 §
(1) Cytoplasm (2) Mitochondria (1) HRwEE (2) wEATgar
(3) Chloroplast (4) Nucleus (3) & @ (4) Frw

. Which of the following is a’ plant 31, F=fifgg & ¥ S=-71 URT =T 2
hormone : -

(1) Insulin _ (2) Thyroxin M) g™ @
" (3) Oestrogen ~ (4) Cyiokinin (3) TEH 4) HERwEF
. The gap between two ﬁeurons iscalleda: 32. & dfSeH FEEE 3 7eg TR W B Fod ©
(1) dendrite (2). Synapse | (1)- s 2) RAwE

3) Axon _(4) Impulse @) R @)



33,

34.

35,

36.

=)

The brain is responsible for :
(1) Thinking
(2) Regulating the heart beat
(3) Balancing the body
(4) All of the above

A sexual reproduction takes place
through budding in :

(1) Amoeba (2) Yeast _
(3) Plasmodium (4) Leishmania

Which of the following is not a part of the
femalc reproductive system in human

——beings
(1) Ovary (2) Vas deferens
(3) Uterus (4) Fallopian tube
The anther contains :
(1) Sepals (2) Ovules
(3) Carpel (4) Pollen grains

37.

38.

39.

40.

Morphologically and genetically similar
organism is called :

(1) Colone (2) Somaclones

(3) Cosmids (4) Cybrids
Which one of these is diploid :

(1) Egg (2) Pollen

(3) Male gamate (4) Zygote

Which one is not an oviparous animal :
(1) Snake (2) Chicken
(3) Crocodile (4) Human

Involuntary actions like blood pressure
salivation and vomiting are controlled by
this part of hind brain :

(1) Medals (2) Cerebellum
(3) Medulla (4) Cerebrum

33

34.

35.

36.

3

38.

39.

- 40.

LoLU=L |

AR IO 8

(1) d=m & R

@ FEAS R
3) mﬂﬁﬁrﬂgﬁﬂwﬁﬁ%m
(4) IgFT T

N T GHA BT e §

(1) ol Q) de
() SR (4) FefEr

Pt & @ 9w & A o @ @ W o
E3E

(1) si=eE (2) iy
(3) g (4) RaiE
R & B ¥
(1) aEd (2) sfERE
(3) sy (4) T FH

ST el STgalies § § TAE g @ a0
Fed § : :

(1) F=m ) A T
(3) e (4) Hise
T/ S W 9w i

(1) s @) |

@) T (@) T (T
TR | PN SfSuoTTH G B

(1) ¥ ) i

() TS @) 7=

Th @, Po ¥ @ oA, T o eifesw

e B 7 '
(1) =g Q) &
@3) (“4) T
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41.

42

43.

44.

45.

46.

lyraunemarics { vid )

If (x*'+31) is divided by (x+1), the
remainder is :

O
(3) 30

(2) 1
(4) 31

If the quadratic equation x* - 3kx +
2¢*°8% . | = 0 has real roots such that the
product of roots is 7, then the value of k
is:

(1) %1 (2) +2

(3) &E3 (4) None of these
The value of (0.16)'°82> : EREY 312+ ;3'*' ) is:

(1) 2 (2) 3

(3) 4 (4) None of thlese

If S,, S; and S; are the sum of n, 2n and
3n terms of an Arithmetic Progression
(A.P.) then which one of the following is
true : ' S

(3) S3=2(5,-8) @) S;=4(5;-8,)

Which one of the following decimal
expansion is not terminating ?

14 ; 9
1 7y ——
() 20 x 53 ) 2 x5’
8 15
L LB 4
) 24y 59 o 22 x32

2 '2 .
The equation Sin? = 2= T ¥ possible if

2xy
1l x=y 2) x=-y
3) 2x=y (4) None of these

41.

42,

43.

44.

45.

46.

LIVL L K- 1]

T (x+1) @ & +31) B T R o B, &
et B

(1) 0 @) 1

(3) 30 4) 31

g TEEE T X2 - 3kx + 28708 _ 1 =

%mﬁmwwm%%aﬁffmmr
B WMk AR

(1) %1 2 £2
(@) +3 ) ¥ & @
og2s(1,1, 1
(016172 | eboh m|:mwm%
(1) 2 2 3
3) 4 (@) T QBRI

A S, S, olX S, Fe TR A B s
n, 2n &R 3n @& B T &, Fﬁﬁ"ﬂ%if@ﬁﬁ
Eﬁ?{w%?

(1) S;=8,+8, (@ S, =3 s, -"!sl)

-3

(3) S~ 2(S,- Sl) (4) S;=4(S,-S,)

ﬁwﬁi@aﬂﬁs&mmqmw_?ﬁ%?

14 - 9
1 0 R .
@ 20 x 53 @ 22 x 53
8 15
Y e 4
® 24 x 50 ) 25 x 32

2 2 _
THFT Sin?0 =52—+Y— T 2 of
X)’

2) x=-y
@) 1 3 3 7
3%

(1) x=y

(B) 2x=y



47. The image of the point (3, 8) in the line

X+3y=7is:
(1) (1,4) (2) (4, 1)
(3 1,-4) (4) (-4, -1)

48. A triangle ABC, right angled at A, has
points A and B as (2, 3) and (0, -1)
¢ respectively. If BC =5 units, then the

point C is :
(1) (-4,2) (2) 4,2)
(3) (3,-3) (4) (0, -4)

49. The probability of . gettmg at least one
head in tossing two coins is : '

(1) @) %

.
4
@) 2 (4) None of these
50. Two cards are drawn one by one without
replacement from a well shuffled pack of
52 cards. The probability that both being

aces is :
3 2 ! 2
W= @) =
' 1
9] [ e 4y
(3) 3T, ( ) 221

51. A tree, 20m hlgh being broken by the
wind, the top struck the ground at an

angle 30°. Find the point at which the
tree is broken
(1) 14 @) 1:3

3) 1:2 (4) 23

47.

48.

49.

50.

51,

[MTH-2]

g (3, 8) & ¥ x + 3y = 7 3 ©nw
yfafqe o Fewis &

(1) (1,4) 2) @4,1)

(3) ('19 _4) (4) (_41 ‘1)

QiﬁﬁraﬁABCﬁﬁAQ‘{Wf%MQﬂ#
g A o B & Fiww w2, 3) o

©,-1) % | IR’ BC = 5 ¢ & RgC &
ferdarien @ :

(1) (-4,2) (2) 4,2

3) @G, -3) @) 0, 4)
o Rt # B § F-9-90 @ M o
ST @

o 1

= @ —-

@ = ) T & B

OB TE T R A H 52 oW A & e
q 8 B e & @ wEw dn o g, &
I B g e i

W @ &

Kl
1
53 (4)551
20 . Wﬂaa'amﬁé&aﬂ'u[@h%é
T P I TER P S & I A A =
¥ g H F Tl W00 @ B E | A
B T forg o A AT F T v F

(1) 14 @ 13

A 1.9 PT i ” E
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. The mean of the following data is 8

K13 | X709 |H|13

y|e|8|15|p]| 8] 4

then the value of pis :
(1) 21 (2) 23

(3) 24 (4) 25

A chord of a circle of radius 12em
subtends an angle of 120° at the centre of
circle. Find which one of the following is
area of minor segment

(1) 44.88 sqcm. (2) 44 sqcm.
(3) 88.44sqcm. (4) 440 sq cm.

A cone of height 8m has a curved surface
area 188.4 square metres then its volume
is :

’ (1) 200 m’ (2) 201.88 m*

(3) 300 m (4) 301.44 m?

A metallic sphere of radius 3_1‘:0’11:'1 is
dropped into a cylindrical vessel, which
is partly filled with water. The diameter
of the vessel is 1.68 m.”If the sphere is
completely submerged, find by how
much the surface of water will rise ?

,(29/1.75 cm

(4) 2.75cm

(1) 1cm
(3) 2cm

The curved surface area of a cylindrical
pillar is 264 m® and its volume is 924 m°.

The height of the pillar is :
(1) 4m (2) 5m

3) 6m (4) 7m

52.

S3.

54.

558

56.

LM 1H-J]
Ry Aol & e TS B ey 8 %

JEREIN AR AR

y|le6|[8|15|p| 8] 4

H’fpiﬁrﬂﬁgi
‘) 21 @y 23
(3) 24 (@) 25

12&#%@%%@3%@6%@%
¥R W 120° W AT A ¥ | W @y
TUEYE F % e § & Se-ar ©

(1) 44.88a H.H. (2) 44 T F.4.
(3) 88.44 7 .. (4) 440 aﬁ__'ﬁ.rﬁ.

@ g @ S & A qw w T dw
188.4 7 Mex B, it oy H AR ¥

(1) 200 #° (2) 201.88 #F°
(3) 300 #° (4) 301.44 #°

21 4. B I @& A § N @ SR

w O TR & W g 1.68 W @w a@

I T A o R o @ AR A o
mﬁﬁg&m%aﬁmﬁﬁwa&r
ﬁﬁmwa%m?

(1) lcm. (2) 1.75cm

3) 2cm
%aawa@mﬁq@qmmﬁz

AT T A 924 WP @ A TN N I
2

()" 4m
(3) 6m

(4) 2.75cm

) 5m
4) Tm

(36)
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The internal and external diameters of
hollow hemispherical vessel are 24 cm
and 25 cm reSpectively. If the cost of
painting 1 cm® of the surface area is Rs.
0.05 then the total of painting the vessel
all over is :

(1) Rs.90.05 (2) Rs. 92.25

(3) Rs.95.20 (4) Rs. 96.29

In a AABC, the bisectors of /B and /C
intersect each other at a pomt O then
ABOC =

‘(1) 90°

(2} B2O% + 8

> (4) None of these

PQ is a long chord of length 8 cm of a
circie of radius 5 cm. Tang‘ents at P and
Q intersect each other at the point T then
the length of TP is :

" (1) 5¢m (2) 6 cm
3) 6—%—— cm @ 6-—;— it

For which value of K the system of
equations (K -Dx -y =5and (K + Dx
+ (1 - K)y = 3K + 1 have infinite many

, solutions :
() K=2 Q) K =17
./43-}'1(_: 3

(4) K=4

37.
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60.

[MTH-4]

0% HEMSE e I 3 Al & o) el
A FAM 24 M. w25 G R 1 da42
TaE F I F B arg 0.05 5. & o= @

e e A A g T

(1) %.90.05 (2) €.92.25

(3) ¥.9520%. (4) %.96.29

qu%rgGrABCﬁ‘, ZB AR £C & woF &
T H g O W #ed §, & ZBOC =

LA

n =

(1) 9o° (2) 90°

o o 1 £

(4) ﬁﬁ@fﬂﬁﬁﬂﬁ

5AA. B 3 wE g0 @ 8 AA. a w
St PQ # | P 3l Q W # wst Tem g
f Rg T W aReds o ¥ & TP & qwrs
TR

(1) S&.5. 2) 63.4.

® 65 AR @ 6= aa.
K%WW%WWW(K_I)X_
Yy=5ME+x+ (1-Ky = 3K + 1
% R 3T & B ?

(I) K=2 2) K=7

@) K=3 @ K=4

-
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61.

62.

63.

64.

65.
~ country. held responsible for the World

66.

History ( sfwew)

Mussolini violated the rules of League of

Nation by his successtul aggression

against - '
(1) Rhine (2) Greece

(3) Abyssinia  (4) France

The ﬁririci_ples of Nazism are written in -
(1) Das Capital

(3)- War and Peace (4) Social Contract

(2) Mien Kamph

Hitler forimed a party named -
(1) Communist Party
(2) Labour Party
(3) Conservative Partyl
(4) Nazi Party

The impact of the French Revolutions of
1830 and 1848 in Europe was the
cmergence of - '

(1) Feudalism  (2) Class-struggle
(3) ‘Nationalism (4) Autocracy

According to the. Treaty of Versailles the

War I was
(1) England and her allies
(2) Germany and her allies
(3) Serbia and Russia
(4) Austria

The country which supported Germany in
World War I was -

(1) Italj’
(3) Russia

' (2) Austria
(4) France

61.

62.

63.

64.

65.

- 66.
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e T T TS iy & R ?
‘(Z)Eﬂ?-l
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68.

69.

70.

71

72.

The Industrial Revolution set in because
of - )

(1

The changes in the techniques and
organisation of production

(2)
(3)

The revolution in agriculture

The Developments in maritime
activities '
4)
Brazil}was discovered in -
(1) 1500 (2) 1505
(3) 1510 (4) 1515
Who discovered North Pole ?
(1) Captain James (2) Magellan
(3) Amundsen  (4) Robert Peary

Magna Carta or The Great Charrer was
signed in

(1) 1210
(3) 1220

The acquisition of colonies

(2) 1215
(4) 1225

On which among the following dates, the
Gandhi-Irwin Pact was signed ?

(1) 5 March, 1931 (2

- J ATALAL Vi)

15 March, 1931

Consider the following events of Indian
National Movement.

1. Gandhi Irwin Pact
2. Poona Pact

Karachi Session of Indian National
Congress.

4. Individual Satyagraha |,

Select the correct chronological order of
the events from the codes given below.

(1) 1,2,3.4 2 2,3.4.1
@ 34,21 (@ 4,321

67.

70,

71.

72.

Lasans aw)

ST T W geT -

') ouET oiR e ¥ qRadw |

(2) ™ F wi |

(3) YRS TRy & EEw q

(4) Iufvee 3 Rar @
SISl & @ g8 -

(1) 1500 % | (2) 1505 %

(3) 1510% 4) 15154
e ST 1 T Rt A 7

(1) F= v (2) He

(3) oFEET . . (4) U I
T et & Wer T @ den & -

1) 1210% @) 12153

(3). 1220% @) 1225%
P ¥ R B R @ mde bR o
BRI BT &7 ° .

(1) 55™ 1931 (2) 69W 1941

(3) 49 1931  (4) 159 1931
T T W ¥ B R B ®eR
e |

1. widr g Y

2. g

3. HUE A9 % IRIT AT HO

4, T TAHE

1 e & 3 weantt & W fofy &1 @
=i L 7

(1 L,2,3,4
2) 3.4,2,1

(2) 2,3,4,1
4 4,3,2,1

(40)



73;

74.

75.

76.

Geography ( it )

V shaped contours exhibit :
- (1) River valley
(2) "Glacier
(3) Peakofa mountain
(4) Plateau

Rain water harvesting is an approach to
sustainably manage the :

(1) Water Resources
(2) Energy Resources
(3) Food ReSources

{4). Agricultural Resources

Soil erosion is a major problem in :

-(1) ‘Gandak Valley

t2) Chambal Valley

(3) Punpun Valley

(4) Ram Ganga Valley
Sévlect the correct Sta[f;ments z

(a) Karnataka is famous for coffee
farming.

(b)
A€)

Tamilnadu does not produce tea.

Kerala is famous for coconut
farming.

(d) Goa is famous for pineapple

farming.
(1) bandd (2) aandb
(3) aandd /(.4) aandc

[GEO-1]

73. V AR & Fx @i well wwd Y

(1)
@)
3
(4)

T e
Ry @
qaq farew

TR

74. U0 W SRARST WA SEeE A R § ug
I B

(1)
)

3)

4)

Sq Hawd & g
et Hame 3 forg
g HE e % g
F HaTEe & for

75. TR &1 U S T §

1)
@
(3)
(4)

s% gt |
e Ut #

S RCR
Ry 8- cuk-

76. W& FUAE B OTAT B

(a)
(b)
©
(d
(1)

3

FHCH, FH B FY B R o= ¥
aﬁamgﬂamwaﬁmaﬁ@mzn
e, e g & R R ¥
W,wmﬁrﬁﬁ%m@a%_l
bwd (2) aw@b

awdd (@) awgc



77. Damodar Valley is famous for :

78. Kaziranga National Park of Assam has

79.

80.

(1) Iron-ore mines
(2). "Dense forest
(3) Coal mines

(4) Agriculture

been famous for :
(1) Elephants
(2) Tigers
(3) One-Horn Rhino

(4) Lions

Barh is emerging as a super thermal 79.

power station in the state of :
(1) Uttar Pradesh (2) Odisha

(3) Tamilnadu  (4) Bihar

Chemical industries are principally  80.

respopsible for :
(1) Air and land pollution
(2) Air and water pollution
(3) Land and sound pol]u_tion

(4) None of them

LUt

78 Wﬁm%

(1) re-s77F @it & R
(2) w7 a7 & o

() HaT TF B g

4) 3% % fg

78, T F HRAN ALY U ofaw P

(1) =t & fig
(2)- =t & Rg
(@) T R at e & fore
4) R & R

G TH IHTA AT AR (¥ R9H B, o
Tty B

(1) SRWATHF (2) aﬂ‘ﬁ%mmﬁ
(3) AT (4) Frer oy ¥
Wﬁmeﬁwg@mﬁﬁtﬁm%:
(1) a7 o 4% mguor & fo

(2) 99 wd St uguwr & feg

(3) o @ i sy @ fr

4) 3 |/ P i



81.

82,

83.

84.

Indian Railways was first started in 1853
in between :

(1) Muml;lai and Pune

(2) Howrah and Sealdah
(3) Mumbai and Thane

(4) Chennaiand Coimbatore

Which o6rie city of Bihar is not situated on
the bank of river Ganga : '

(1) Ara (2) Patna
3) Bhag:alpur' (4) Begusarai

National Highway 7 is the longest
highways I,of India, it connects :

(1) Kolkata to Delhi
~ (2) Varanasi to Kanyakumari
(3) Delhi to Bangaluru

(4) Varanasi to Mangalore

Which form of the spacing of contour'

li_nés indicates gentle slope :

(1) Contour lines are widely spaced
and are almost parallel.

(2) Contour lines are closed and pafailel.

(3) Contour lines are circular and
closer.

(4) Contour lines are irregular.

o]

81. &l AN HRAH W W Yo 1853 §. H &F
ot .

(1) 998 & Q9 3 =
(2) T@el Td ferEe & &
(3) g% @ 9 3 4=
@) F w P S i

82, T A FER & &N X 1 ) F @ W
mﬁaﬁﬁﬁ%?

(1) sm (2) ger

(3) WYL 4) IRA

83. U ToMNT 7 WRG F TS w1 TOEN 2,
7E e @ ¢

(1) FXTERT B freeht @
(2) R B TG
3) Rl & Jgs A

(4) TRRER B OFER G

B4. Fl (@R B oERAT & HR @ oy i
T PSR FTE

(1) <0 W@ & g § FH g W ¥
T SRR IR & |

(2) Fel W T TR F TOEE ¢ AN
FAMFR € | %

(3) F Y@ TR ¥ o o o B
TAEE & |

(4) T T atafE



CAVIUS | U iRUgA )

85. fo=iifa & & a9 o a1 Mo @ whea B
Evah 9 T8 ® -

85. Which' one of following conditions is
wrongly listed as the essential condition
for the smooth working of democracy -

(1) Universal suffrage
(2) Free & Fair elections’
(3) Minority rule

(4) Presence of Opposition

NDunoid .
r

Assémbly of India was -
(1) Dr. Rajendra Prasad
(2) Bhimrao Ambedkar
(3) Morarji Desai

(4) Dr. S. N. Sinha

87. The provision of "Election Commission"
for free and fair election in India has

been made through -

(1) Article 124

(3) Article 325 (4) Article 324

88. The members of Cabinet under Pres

System arg -
(D Accoun;able to the Preside_nt
(2) Agcountable to legislature
(3) .Accountable to electorate

(4) None of these

resident of the Constituent

(2) Article 224

86.

87.

[CLV-1]

(1) aE9fe FaiemR
(2) e gAmE

(3) HANEAEFH T

*) faw i Aot

ARG & WAqM G5 @ oty B q -

O —
2) A SrREET
@) Arreh

(4) 3. .9, fgwr

T e @ few g 3 R oge
ST B e W B R A b ded e

mar ¥

e I < S

(1) FTgBT124  (2) o7 224
(3) FgRT325  (4) orTRT 324

ety yonelt AT @ we -

(1) Tee & oy Soerd oy &

2) ﬁqﬁm%nﬁmﬁaﬁﬁu
3) w%ﬁm@@%%]

4) o & B

(44)



89.

90.

~ 9.

92,

The ‘fundamental rights in. our

Constitution is listed from -
(1) Article 10to 25
(2) Article 12 033
(3) Article 12to 35

(4) None of these

The term of a Rajya'S'abha member in 90,

India is -
(1) 5years (2) 6years
-(3) undefined (4) 4yéars

The nomination of members to legislative
council is made by - ’

Chief Minister

Prime Minister

(3)
(4)

Governor

The longest Constitution of the world is  92.
of -

(1) India - (2) USA

(3) France (4) Italy

89.

91.

[CIV-2]
TRAE dieum # qeE SRl @ gE @
o B -

< (1) IR 10 R 25T

Q) TR 127 2T
(3) FFBT 127355
@) w7 | ag T

T T P TEE W OEOEE AT § e
formr T ® -

(1) Sad
(3) ffvem 7& @) 4ad
frm-uftee & geell B TS B E -
(1) gersh
@) w%wcrﬁr
. (3) vt

@) 6a¥

(4) TR
Rva &1 wed w7 dfdyw e Aw @ B -

(1) W@ (2) TYF W AR

(4) gt

(3) =™

P



LCONUMICS { SR )

93. Planning Commission was set up in the

year :
() 1951 (2) 1950
(3) 1971 (4) 1991
| 94HI;] Rank of India in the world in 2013
was -
(1) 73 (2) 135
(3) 150 (4) 146

95. The concept of Vicious Circle of Pdvert}'
was given by :

(1) Adam Smith
(2) T.R. Malthus
(3) Karl Marx
(4) Ragnar Nurkse

96. The currency of Russia is :

(1) Dollar (2) Pound

(3) Rouble (4) Riyal

97. Demonetisation was announced by Prime
Minister Modi on -

(1) 1January, 2016
(2) 8 November, 2016
(3) 11July, 2017

(4) 28 December, 2016

|IECO-1]

93. AT SN T oA T 9 § g e
(1) 1951 (2) 1950

(3) 1971 (4) 1991

94, 2013 % Rgm ¥ wRa B A fww IR

e 9 -
(1) 73 @) 135
(3) 150 (4) 146

95. TN B T A o T Ry o -
(1) e foy
(2) A.T.AR
(3) @ e
) TR T
96. W P g1 ¥
(1) s (2) 9ETE
4) ﬁ%‘

97. WEE W B R @ dvor sw Rl
B W T -

(1) 1 w=ad, 2016
(2) 8 7w, 2016

(3) 13w, 2017
(4) 28 &R, 2016

(3) =9

(46)




98. Bank Rate is the rate at which -

(1) Commercial banks lend to
- borrowers

(2) Reserve Bank of India lends to
commercial banks

(3) Co-operative banks lend to its
borrowers

(4) None of these

99. Golabalisation policy was initiated by the
Government of India in the year -

(1) 1947 (2) 1977

(3) 1991

100. United Nations adopted the UN
Guidelines for consumer protection in -

(4) 2001

(1) 1951 (2) 1985

(3) 1991 (4) 2001

[ECO-2]

98. IF W TE W & B T -

(1) AP % areht @ o7 37 &

(2) o 3% ofw Rar a5 2 =
TR

(3) wEHRE 3 o WERd A W 3
21

@) T q HE "

99. W WHR A AT B f o gwomr @
¥ # 5 df -

(1) 1947 ) 1977

(3) 1991

100. 71 T & Sudr wE B R g o Rer
s 50 9 e By -

(4) 2001

(1) 1951 (2) 1985

(3) 1991 (4) 2001
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